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Subject : English
Prescribed Book : English for Today (Class — Four)

Published by : NCTB
Time : 2 hours Full Marks : 100

Distribution of Marks
The text/dialogue/ picture will be taken from the book English
for Today class IV and have to answer questions 1, 2, 3 :

1. Matching given words with their meanings : 1x5=5
2. Truel/False : 1x56=5
3. Answer short questions 2x5=10
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1.
2
3.

Short composition/paragraph 10

Making sentences : 1x5=5
Letter 1x10=10
Re-arrange the given words in the correct order to make
meaningful sentences 2x5=10
Use punctuation marks properly 5
Grammar (4 items) 20
. Class test: 20
Total=100

Half yearly Examination
Unit-1 — Unit-22
Paragraph: (i) Our School, (ii). My Reading Room
Letter:

1) Write a letter to your friend to attend your birthday party.
i) Write a letter to your father asking him for sending money.

4,

Grammar: (i) Classification of Sentences,
(ii) Classification of Parts of Speech,
(iii) Present tense iv) Number.

** Class Test: Unit 1 to 5,

Letter: Write a letter to your friend to attend your birthday
party.

Paragraph: Our School.

1.
2.
3

%%k

Annual Examination

Unit-23 to 43
Paragraph: (i) My Classroom (i) My Daily Routine.

. Application:

(i) Write an application to the Headmaster praying for
leave of absence.

(i) Write an application to the Headmaster of your school

praying for a transfer certificate.

Grammar: (i) Classification of Sentences,

(ii) Classification of Parts of Speech,

(ii) Past tense (iv) Gender

Class Test: Unit-23 — 28,

Paragraph: (i) My Daily Routine
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